ECE 2260 HOMEWORK #5 prob 1a solution U
F11

Ex: Find the Laplace transforms of the following waveform:

(t—a)cos(t —b)u(t—a) where a>0

SoL'N:  Use a(elay ialen-ti-l:y:

L 3 v(t-a)u(t-a) = e'doé v, q?@

To rccojné-ze Gé—q) c‘os[f~b) as a fundtconu
of +-~a, we sabstitaute +=F-q)+a
where necessary,

(t~a) cos(t-4) = (’é"") ¢l (E-a)+a- b)

V(t-a) = (£-a) cos ((t-a) + a~b) )
We obtain v(t) by substitating t for t-a.
V() = t cos (& +a-b)
Now we want +o find L3vie)y = V()

Qo8 (£ 4 q-b ) = coSk)cos (a-b) - sip(t) sin le-b)

We ocbserve that cos(a~4) amd sin (2~b)
are constants.

So L3 cos(t) cosla~b)-sin(t) sin(a~6)3

= COS(Q“A) N ? cos['é).g ~ Scn (q~é) :(fsmﬁé)%

= das[q~b) 8 ~swn(q-b) \
S22 a3 s /2
F!'nq({\/) oL (£-a) cos(t~b)u(t-a)S=e  cos(a-b)s -sinta-b) .
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